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JE 2 K& ouT IN Total Hdep  Net R 034E10A25H
B At E= | 40| 38] 78] 84 69.6] 2 AH
#EE BB k= | 45| 471 92| 204] 71.6] # AE
3 =H 2 | 44| 51 95] 228] 722] SN
4 =3 LI | 50| 50| 100] 27.6] 724
5 WH X | 39] 43]  82] 9.6] 724
6 = B | 4] 42] 83] 9.6] 734]
7 B A= | 39| 44| 83] 96| 734
8 =X Cf | 47| 41| 88| 144 736
9 MR FYF | 46| 47] 93] 19.2] 738
(10fz] &t =m | 47] 51] 98] 240] 740] K AH
11 HF K2 | 39| 40] 79[ 48] 742]
12 AE Bh | 49| 50| 99| 240[ 750
13 LA &HiE | 47] 46| 93] 18.0[ 75.0]
14 BN FH | 50] 54] 104 28.8] 752]
15 HE E— | 48| 441 92| 16.8] 75.2]
16 ] | 52| 46| 98] 22.8] 75.2]
17 HE BE | 42| 36| 78] 24| 756
18 IBE FIA | 44| 39| 83] 72] 758
19 ELE 22 A | 45| 43| 88| 120/ 76.0]
(20fz] WK &— | 44| 50| 94[ 180] 76.0] K AE
21 INE R | 45| 48| 93] 168 76.2]
22 T EA | 55| 56| 111 348 76.2]
23 EM ERER | 50 48] 98] 21.6] 764
24 fE EM | 57] 46] 103] 26.4] 76.6]
25 X = | 47] 55] 102] 25.2] 76.8]
26 Bk H— | 57| 49| 106] 288 77.2]
27 A B | 44] 44] 88 108] 77.2]
28 EH EX | 50| 49] 99| 21.6] 774
29 MR & | 42] 48]  90[ 120[ 780
(30f1] ®|H * | 52| 50| 102 24.0[ 78.0] # A
31 M& #e | 46| 55| 101] 22.8] 78.2]
32 KB E® | 39] 43] 82] 36| 784
33  iEMA AT | 44] 49] 93] 144] 786
¥ HE Fx | 53] 46] 99 204] 78.6]
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JE 2 K& ouT IN Total Hdep  Net R 034E10A25H
35 AR XK | 47] 56| 103] 24.0[ 79.0]
36 KT #fE | 56 56| 112] 32.4] 79.6]
37 VG | 53| 52| 105] 252 798|
38 KR X | 53| 57| 110] 30.0[ 80.0|
39 =5 #3& | 50| 52| 102] 21.6] 804
(40fz] #HE RE | 43] 59] 102] 21.6] 804] S AE
41 B3 EE | 51| 58| 109| 264 82.6]
42 X # | 63| 55| 118] 34.8] 83.2]
43 EF BA | 54] 61] 115] 288 86.2]
44 HP H— | 61| 62| 123] 36.0] 87.0]
45 TE FRfE | 62| 61] 123] 360/ 87.0]
46 =3 FA | 62] 65 127] 36.0] 91.0]
47 AT B | 60| 69| 129] 36.0[ 93.0] BB Y AH
48 WA FRE | 65| 65| 130] 36.0] 94.0] BM A A
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